
Name: _____________________________________     

2

Rewrite each problem vertically and solve.

a.   3,156 + 879 = __________ b.   5,382 + 1,467  = __________ c.   9,726 + 98 = __________

d.   7,854 + 2,956 = __________ e.  6,947 + 82 = __________ f.   4,658 + 593 = __________

g.   8,793 + 4,387 = __________ h.   9,261 + 758 = __________ i.   2,075 + 65 = __________
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ANSWER KEY

4-Digit Addition

Rewrite each problem vertically and solve.

a.   3,156 + 879 = 4,035 b.   5,382 + 1,467  = 6,849 c.   9,726 + 98 = 9,824

d.   7,854 + 2,956 = 10,810 e.  6,947 + 82 = 7,029 f.   4,658 + 593 = 5,251

g.   8,793 + 4,387 = 13,180 h.   9,261 + 758 = 10,019 i.   2,075 + 65 = 2,140
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